
SHORELINEINDUSTRIES.COM

Parts List
DESCRIPTIONPART NUMBERQTYITEM

SL Truss Side Mounting Plate102605911
SL Truss Backer Plate102606022
Bolt Bag10261061-

Nut Flange 3/8-16 Brass100180243
Bolt Hex 3/8-16 x 2.0 SS 304100242444

43.250

1

2

4

3

Failure to follow instructions may result in personal injury and may invalidate the 
applicable warranty.
 

Tools Required
Drill and 7/16" Drill Bit
Two 9/16" Wrenchs 
 

Step 1. Position SL Truss side mounting plate in desired location. For a 4' Tee connection use 43.25” from
end of dock to the center of hole as shown.
 

Step 2. Using the plate as a template to drill four 7/16” holes.
 

Step 3. Attach Side Mounting Plate to dock frame with four 3/8” x 2-1/4” hex bolts and 3/8” flange nuts, 
installing one backer plate on top and one on bottom as shown.

Shoreline Mounting Plate Kit
Instructions
Part #: 1026061

Ø 0.440
(Ø 7/16)

DOCKS


